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Slewing correction for MC

Before slewing correction
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After slewing correction

0.5 12
0.4:— I
o —10
0.3
0.2 .
0.1 ;— . "'d\u
of— :melllﬂmdﬂ\ﬂﬂm'lﬂ o e LR R R 6
| S
S —4
-0.21—
-0.3F— »
-0.4f—
058 ] Ll | N PR PR BRI BT AP B 0
0 2 4 6 8 10 12 14 16 18 20
charge (pC)
18001 hiteration_1_py
- Entries 5506
1600— Mean 1.46e-05
1400 RMS 0.01813
- %2/ ndf 375.4 /29
1200— o~ 12 S Constant 1645+34.3
1000: p Mean -0.001201 £ 0.000174
- Sigma 0.01239 +0.00019
800(—
600[—
400f—
200—
C— P PRI TR L MRS RS R
-0.3 -0.2 -0.1 0 0.1 0.2 0.3

Time




Slewing correction for MC

iteration: O
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iteration: 1
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iteration: 2
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MC with different gap width

Simulation with difference gap width (0.22mm, 0.105 mm)
Similar time resolution obtained from 0.25mm and

0.22mm: 37 ps (0.25mm), 36 ps (0.22mm)

40 fC threshold seems to high for 0.105 mm (no leading

edge TDC)
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